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a\ Paper / Subject Code: 76410 / Mathematics.

Q. r (A)

(1) The simple interest for an investment of Rs.
a. Rs. 1,500/-
b. Rs. 7,6001-

interest rate is:
a. Rs.24,142
b. Rs.26,620
c. Rs. 23,872
d. None of these

(3) The formula for Simple
a. SI:Pnr/100
b. SI:P+n+r
c. SI:PxA
d. None of these

a. No
b. Quarterly
c. Half
d. None

(5) The

of Rs.

at successive time periods or intervals of time is called
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(f ) 2:3 and 3:2 are lnverse ratios of
@ Simple interest for an i

discount is calculated
calculated as

The invoice price minus
For a fixed sum in
than the compound

(7) If a share is av, value.
(8) The face val
(9) In mutual

(10) The legal

market

units.
fund is SEBI.

should be charged for 34 t0gl

to Rs. 9600. Find o/o change

l07l

was Rs. 1500/- find I08I

I toys. In 4 days, how many toys will 6 workers mal;e? t07l

ratio 3:5:2. malte t08ltheir
e same for Rs. 6,000
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(9) simpre interest and compounrl i,terest for first year area. salne
b. added every year by the bank
c. different
d. None of these

(10) A sinking fund is an example of
a. EMI
b. Annuity
c. Simple interest
d. None of these

of an Annuity of Rs. 5000 for 6 years at 9 yo pa.

and Chinu have their capital in
10,000/- afthe end ofthe year.

buys an article for Rs. 5,000 and
his per.centage profit or loss.

Q.2 (a)
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dividend he recei

(c) Mr. Patel
was Rs.
scheme.If

unit in this
152.354 after

with suitable
Q.s [081

[071

[1sl

*****
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(b) A machine was bouglrt fbr Ils'
years at l0'k Pa dePrer:iation'

Mr. Raiat has taken a loan of
interest rate is l2%o Pa, find the

Calculate effective interest rate

pa compounded half YearlY.

(d) Calculate present value of an immediate

(i) Calculate amotlnt
atB Yo comPound

(ii) The face vaiue of a
20% dividend.

(b) Mr. Basu bought 50

shares when MV was

(d) At

shares

rates.
funds.

2,00,000/-. Calculate its

OR

(iD

Q.4

all I07l

when its NAV [081

Rs.48,315.50 in 4 [071
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